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Duration: 03 Hours, ‘Total macks assiened 1o the paper: 80

Marks assigned 1o cach question are stated againag vach question.

Instroctions to the candidates if any:-

N. B. {1} Question No. 115 compulsory.
(2} Answer any three out of remaining five qguestions,

(3) Assumptions made should be leﬁri:r stated.
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Q.No. - i‘wﬁxjﬁh :

Q.1 Auempt any Four 20
a) Explain steps involved in Maximum Power Transter Theorem with the help nffnrmuiae

and circuit diagram.
b) Determine the driving-point impedance function of a ﬂne»pon nn:’mrmk ~¢hnwn in following

figure

o J‘W._

g

¢) Test whether the polynomial P{s} = $‘¥;’§) 6521548 is Hurwitz.
d) Write a short note on PMM[’J mﬂminbtrumﬂntﬁ

e) Why is Kelvin's c{mblabﬁﬁge u"ﬂ"’ Draw its circuit diagram and write the formula.

Q.2  a) Inthe network shﬂw;: hﬂuw determine Vg and Vi i 10
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W 1) In the network shown below the switch ischanged froms the position | to the position 18
2 at t = 0 steady condition having reached before switching. Find the values of i, d/dt and

d*idt ate=0"
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Q.3  a) Obtain the Thevenin equivalent network for the given network at terminzlsaand b, 10
2.0 Vi 4 SL 5V,
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b) Find Z and h-parameters for the network shown in following figure 10
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Q.4 a)Find the current Iy : 10
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Q. P. Code: 27433
b} Determine the Foster form of realivatior. uf the RC impedance function i

Z(s)y=(s+1)(s+3)s(512){5+4)

Q.5 a)Explain Energy meter with the help of diagram in detail. i
b} (i) Find Y-Parameters for the netwerk shown in the following figure (a3
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{ii) In the figure shown below the switch is closed af t=0. Find v.(1) fort > 0 05
|gon
34/1}_ F —-—W,J.—
L' )
By —— P = F LD %
L . E AR 5
Q.6 a)Mention high resistanee méasurement methods. Explain Megger in detail. 10
b) (i) Write a short note on CRO 05
(ii) Testwhether F(s) = (s%+1)/(s*+4s) is positive real function, 05
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